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E57 EXe WEEBR  |SEINEGe/102)| Sipm(o) | CPORE
(kg/10a)
FE— N)H9X+T4F 2015 7H2H 2904.0 21.9% 623.0
FEL— oMY +o47 20154 7H2H 3769.0 23.9% 895.0
FEL— ToO2EMho+J47 20154 6 A 15 8 2957.0 21.4% 633.0
FEL— Yy T+o47 20154 6 A 15 8 2699.0 22.0% 586.0
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E7E 27 N ER4E B B HEINS(kg/10a) | B (%) ffgfﬁf
FE— YHX+047 200158 11 H 715.0 17.8% 127.0
FE— To2amY+247 200158 11 H 702.0 17.1% 119.0
FE— HOEMs+T47 20154 7827 H 1168.0 14.6% 169.0
FE— J9vT+o47 20154 7827 H 834.0 13.9% 123.0
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=g fmiE HEIRE(keg/10ax2) |2 (%) | FZ¥UIN=(kg/10a X 2) =
FE— HR+T4T 3618.0 20.7% 750.0




SE— oS +I(7 44710 22.7% 1014.0
SEo— HEobhS+ T4 41250 19.4% 802.0
Sm— I T+ o7 3533.0 20.1% 709.0
=
H27%E F£REIINE
LSS
pEAIE

2TEE

NVZPISTATSANET -4




B = s | =g , ARIMMEE | EREKREE | HIHH4LERE AREH
HAER |WER KA AEE ERE) EREE | a0 | mmen | sem | #We/m/day
5H 5A7H 5H25H 18 HFH 22.1 161.4 139.3

6 A 6 FA9H 6H23H 14 HRH 116.6 191.6 75.0 5.4

7R 7H8H 7H27H 198 77.0 152.7 75.7 4.0

8H 8A7H 8H25H 18 HFH 59.8 149.2 89.4 5.0

9R 9H7H 9H25H 18HHE 55.9 173.4 117.6 6.5
104 10A7H 10A26H 19HM] 22.7 15.2 -15 -0.4
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